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1. Which among the following is correct when considering the Fata Morgana, a complex
type of mirage?
(1) Fata Morgana can produce multiple stacked images of objects, making them
appear as if they are floating or rising above the horizon.

(1) Fata Morgana, the name derives from the Arthurian legend of Morgan le Fay, who
was believed to create illusions and enchantments.

(A)  Only () (B) Only (ii)
(C) Both (1) and (11) (D) Neither (1) nor (11)

2.  Match the following List A (Agencies of UNO) with List B (Headquarters) :

List A List B
1 FAO (1) Washington
@11) IBRD (2) Rome
(1) UNESCO (3) Geneva
@iv) WHO (4) Paris

@)  ©-6) @-1)a)-2) (v)-(4)
B)  ©-©2) @)-(1)(11)-(4) (v)-(3)
©  ©-6) @-(1)ai)-(4) (v)-(2)
D) ©-2) ()-3) (11)-(1) (v)-(4)

3.  Which of the following sequences is not correct when considering the international years
for protecting human rights and the dignity of mankind?

(A) Africa Year : 1965

(B) International Year of Human Rights : 1968
(C) International Anti-Apartheid Year : 1978
(D) International Year for Women : 1975

4.  Chronologically arrange the following events/activities of the Indian revolutionaries
during the freedom struggle of India :

(1) Looting of a train near Kakori railway station by HRA.
(i1) Jatin Das dies in jail after sixty-four days of fasting.

(i11) Bhagat Singh and Batukeshwar Dutt drop bombs in the Central Legislative
Assembly.

(iv) Assassination of Saunders, the British police officer at Lahore.
4) (), ), @), v)
B) (@), (1), @v), @)
©) @, @), (i), (1)
D) ®, @), @), (v)
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5. Which of the following works is considered by MGS Narayanan as the ‘Unclassified

encyclopedia’ of Kerala history?
(A) Malabar Manual of William Logan
(B) History of Kerala (4 Vols) by K.P. Padmanabha Menon
(C) A Survey of Kerala History by A. Sreedhara Menon
(D) Tuhfathul Mujahidhin of Sheikh Zainudhin Magdum

6.  Which among the following statements is not correct when considering Bankim Chandra

Chatterjee, the prominent Bengali literary figure?

(A) Anandmath, Devi Choutharani and Sitaram are the trilogy of Bankim
Chandra

(B) Bankim Chandra was called the ‘Sir Walter Scott of Bengal’

(C) R.W. Fraser considered Bankim Chandra the first great creative genius of

modern India

(D) Bankim Chandra was the moving spirit behind the Student’s Literary and

Scientific Society in Bengal

7. Identify the country where the Maori, an Indigenous community anointed

Nga Wai Hono i1 te Po, a twenty-seventh-year-old queen as their new monarch.
(A) Australia
(B) Indonesia

(C) New Zealand

(D) Papua New Guinea

8.  Which of the following sequences is not correct when considering the comments or

quotations of the leaders during the French Revolution?
(A) “Oh! Liberty, what crimes are committed in thy name” : Madam Rolland

B) “A mad dog! That I may be! but elect me and despotism and privilege will die
of my bite” : Comte De Mirabeau

(C) “Terror is only justice, more inexorable and therefore virtue’s true child” :

Maximilien Robespierre

(D) “Not only France but we can make a heaven of the entire world on the

principles of Rousseau” : Jean-Paul Marat

A 4-
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10.

11.

12.

Which statement is correct when considering the German trade in Kerala?
(i) The Germans had a trade settlement at Mahe (Mayyazhi) during 1680 CE.

(11) The Germans had a settlement at Cochin with a church in the name of
St. Bartholomew.

(4)  Only (@)

(B) Only (1)

(C) Both (1) and (11)
(D) Neither (1) nor (i1)

Which Indian freedom fighters wrote the biographies of Italian political leaders like
Joseph Mazzini and Guiseppe Garibaldi in Urdu?

(A) Lala Lajpat Rai

(B) Bala Gangadar Tilak

(C) M.A. Anzari

(D) Moulana Abdul Kalam Azad

Chronologically arrange the birth year of the following social reformers of Kerala :
(1) Pandit K.P. Karuppan
(1) Vakkom Moulavi
(i11) Sahodharan Ayyappan
(iv) V.T. Bhattathirippad
4) (), ), @), @v)
B) (1), @), (111), av)
©€) ®, @), (i), (i)
D)  ®, (), @), (1)
Which of the following statements is/are correct when considering Swathi Thirunal, the
Maharaja of Travancore :

(1) Meruswamy, a famous musician in the court of Swathi Thirunal was known as
Kokila Kandha.

(1) Mohanakalyani, a raga was created by Swathi Thirunal.

(1) Satyapariksha (Trail by ordeal) conducted in the Suchindram Temple was banned
by Swathi Thirunal.

(iv) Kannayya Bhagavatar, a disciple of Tyagaraja Swamikal as the courtier of
Swathi Thirunal.

(A) Only (), (ii) and (iii)

(B) Only (ii) and (iii)

(C) Only (i) and (iii)

(D) All (), (ii), (iii) and (iv) are correct

-6-
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13. Which of the following feedback mechanisms is most likely to accelerate global warming?
(A) Increased plant growth due to higher CO:2 levels
(B) Higher cloud cover reflecting sunlight away from the Earth
(C) Melting polar ice reducing the Earth’s albedo

(D) Increased absorption of COz by the oceans

14. Which type of pollution is most likely to cause eutrophication in aquatic ecosystems?
(A) Plastic pollution
(B) Thermal pollution
(C) Nutrient pollution from nitrogen and phosphorus

(D) Noise pollution from shipping activities

15. What is the primary driving force behind the formation of ocean currents?
(A) Gravitational pull of the moon
(B) Tectonic plate movements
(C) Wind patterns and the Earth’s rotation

(D) Heat transfer from underwater volcanic activity

16. Which of the following is a key function of a GIS?
(A) Creating 3D animations for urban planning
(B) Capturing, storing, analyzing and displaying spatial or geographic data
(C) Conducting field surveys for data collection

(D) Predicting future weather patterns

A 8-
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17. What geological process is responsible for the formation of the Himalayan Mountains?
(A) Erosion caused by glaciers
(B) Subduction of the Pacific Plate beneath the Eurasian Plate
(C) Collision between the Indian Plate and the Eurasian Plate

(D) Volcanic activity along a mid-ocean ridge

18. Which river system in India is characterized by a unique phenomenon known as “river

piracy”’, where one river captures the flow of another?
(A) The Cauvery River system
(B) The Narmada River system
(C) The Godavari River system

(D) The Brahmaputra River system

19. Which ecological concept describes the interaction between the Nilgiri Tahr and its
habitat in the Western Ghats, where its grazing habits influence the composition of

plant species and overall ecosystem dynamics?
(A) Trophic cascade
(B) Keystone species
(C) Ecological niche

(D) Habitat fragmentation

20. Which alternative energy source has been most prominently promoted in Kerala for both

electricity generation and reducing carbon emissions?
(A) Wind energy
(B) Solar energy
(C) Biomass energy

(D) Geothermal energy

A -10-
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21. In the context of Kerala’s Physiographic divisions, which of the following statements

accurately describes the Midlands region?

(A) It is primarily characterized by high-altitude mountain ranges and steep

slopes

(B) It consists of undulating terrain with a mix of valleys and low hills,

supporting diverse agricultural practices
(C) It is dominated by coastal wetlands and marshy lands, crucial for biodiversity

(D) It features a flat landscape with extensive paddy fields and is located near

the Arabian Sea

22. Which of the following phenomena contributes to the orographic effect that significantly

impacts the rainfall distribution in Kerala, particularly in the Western Ghats region?
(A) The Intertropical Convergence Zone (ITCZ)
(B) The El Nifio Southern Oscillation (ENSO)
(C) The blocking of moisture-laden winds by mountain ranges

(D) The shift in trade winds

23. In 2024, India successfully launched a mission to the Moon as part of its ongoing space

exploration efforts. What is the name of this mission?
(A) Chandrayaan-2 (B) Gaganyaan

(C) Aditya-L1 (D) Chandrayaan-3

24. Which initiative was launched by the Government of India in 2024 to promote electric

vehicles and reduce pollution in urban areas?
(A) Pradhan Mantri Ujjwala Yojana
(B) FAME India Scheme Phase 11
(C) National Electric Mobility Mission Plan

(D) Atal Mission for Rejuvenation and Urban Transformation

A -12-
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25.

26.

217.

28.

29.

Fast Track Courts in India established based on :
(1) The recommendation of 11t Finance Commission.

(11) The Recommendation of the President of India.
(i11) The Recommendation of the Collegium of the Supreme Court.
(A) Only (1) (B) Only (1)
(C) Only (i1) (D) All of the above

In the Constituent Assembly debates, “I hold that these village republics have been the
ruination of India”. Who made this comment?
(1) K.M. Munshi
(11) Sardar K.M. Panikkar
(i11)) Dr. B.R. Ambedkar
(A) Only (1) (B) Only (i)
(C) Only (1) (D) All of the above

The Legal Advisor of the State Government is known as :
(1) Power of Attorney
(11) Advocate General
(1) Attorney General
(A) Only (1) (B) Only (i)
(C)  Only (ii) (D) All of the above

Arrange the following Committees in a Chronological order :
(1) Balwantrai Mehta Committee

(i1) L.M. Singhvi Committee

(i11) Ashoka Mehta Committee

A)  ©, @), () B aw), @), @)

(€) (1), (@), (1) D) @, (), (1)
Indira Gandhi appointed Sarkaria Commission. Who was its Chairman?
(1) Ranjith Singh Sarkaria
(1i1) Guna Singh Sarkaria
(i11) Nanavathi Singh Sarkariya

(A) Only (1) (B) Only (ii)

(C) Only (i) (D) All of the above

-14-
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30.

31.

32.

33.

Protection of Children from Sexual Offenses Act, 2012 came into existence based on :

®
(i)
(111)

Article 14
Article 21A
Article 15(3)

(A)  Only (i) (B) Only (ii)
(C) Only (iii) (D) All the above (i), (i) and (iii))

In which Case, the Supreme Court reversed, by a narrow majority, its own earlier

decisions upholding the power of Parliament to amend all Parts of the Constitution

including Part III relating to Fundamental Rights :

@)
(1)
(iii)

Kesavanantha Bharathi Case
Golak Nath Case

Minerva Mills Case
(A) Only 3) (B) Only @)
(C) Only (i) (D) All of the above ((i), (i1) and (ii1))

Who were the first Speaker and the Deputy Speaker in the Legislative Assembly of

Kerala?

1) C.H. Mohammed Koya

(1)) O.K. Aysha Bai

(i11)) Sankara Narayan Thampi
(iv) K.M. Seethi Sahib

(A) Only (i) and (iii) (B) Only (ii) and (iii)
(C)  Only (iii) and (iv) (D) Only (i) and (iv)

Which of the following statements are correct according to Article 3267

@
(i1)
(iii)

Basic Principle of Universal Adult Franchise
Election to the House of the People on the basis of Adult Suffrage
Election to the Legislative Assembly on the basis of Adult Suffrage

(A)  Only (1) (B) Only (1)
(C) Only (1) and (@i1) (D) All of the above ((1), (i1) and (ii1))
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34. Fundamental Rights have a reasonable restrictions permitted on freedom of speech and
expression in the interest of the “Sovereignty and integrity of India” mentioned in :
(1) Article 12(2)
(1) Article 19(2)
(111) Article 18(1)
(A)  Only @)
(B) Only (11)
(C) Only (i11)
(D) All of the above ((1), (i) and (ii1))

35. The Judgement in the L.. Chandra Kumar Case (1997) established :
(1) Tribunals are not substitutes for the Supreme Court and High Courts, but their
functions are supplementary
(1i1) Tribunals decisions are subject to scrutiny before a division bench of the High
Courts.

(111) It established the validity of the Art. 323A and 323B.
(A)  Only (@)
(B) Only (1)
(C) Only (i1i)
(D) All of the above ((1), (i1) and (ii1))

36. A prerogative Writ of a superior court to call for the records of an inferior court or a body
acting in Judicial or quasi — Judicial capacity is :
(1) Habeas Corpus
(i1)) Mandamus
(i11) Certiorari
(iv) Quo-Warranto
(4)  Only (1)
(B) Only (11)
(C) Only (i)
(D) All of the above
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0BT TPRE DB B ob ESRIWY o8 D) O YB3 ehedS

BRDD3TVTIT FEDORDVTITW AWEFOFMFRY, SWLLIRT HH),NW B0V :

@)
(1)
(iii)

eoreded 12(2)
eorbeders 19(2)
eorbeders 18(1)
A) 1) @ B) (i) S3,

©) (iii) o3, D) DS d0Fe (), (i), (iii)

OEF. 20T, BB Se (1997) AT e -

@

(i1)
(iii)

JyaboBderw Wdeo Beeest DD FBeeaEnor SoberabmeNy, ©B3 oYY
Bo0LENYR FPTBTNS

3020, 30Y ITFONWD B Zeeeseriv Aol He33 Bwor BBV LYBIDIS.
2 eReied 323A BDI) 323B Q0PI TSID.
@) )33, ®) (i) 303

©) (iii) 93, D) DS d0Re (), (i), (iii)

30303 méojnooja laap) méoinori lamap) adc% méojmorﬁdeg F0NF AR BT xoxg)ojo
ma)drwdg( 380hew ema; 3 m6MUQi)zj ATeR Oe3F ;

()

(i)
(111)
(iv)

DOV JoReR®

79,03

Re3r030000

B,e-59000830

@A) () g, B) (i) 3,
©) (i) 93, D) DO doZe
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37.

38.

39.

40.

Find out the correct statements regarding Article 315 of the Indian Constitution :

®
(i)

(iii)

There shall be a Union Public Service Commission for the Union
Two or more states may agree that there shall be one Public Service Commission
for that group of States.

A member of Public Service Commission shall hold office for a term of six years
(A) Only (1) and (i1) (B) Only (i1) and (iii)
(C) Only (iii) and (1) (D) All of the above ((i) (ii) and (iii))

The 73*¢ Amendment Acts added :

®
(i1)
(111)

Constitutional status to Panchayati Raj Institutions
It added 11th Schedule to the Constitution
The Act added Part IX to the Constitution

(A) Only (i) and (i)

(B) Only (i) and (iii)

(C) Only (i) and (i)

(D) All of the above ((i), (ii) and (iii))

Article 350B provides :

@)
(1)
(iii)

The President can appoint a Special Officer for linguistic minorities
The Commissioner for linguistic minorities sent a report to the Rajya Sabha

The Commissioner for linguistic minorities reports to the President on linguistic

matters
(A) Only 1) and (i1) (B) Only (11) and (i11)
(C) Only (1) and (111) (D) All of the above ((1), (11) and (ii1))

In October 4, 2024, The Supreme Court finds that, caste segregation exists in Indian

Jail, which violate the Article 23 of the Indian Constitution, they are :

®
(i)

Degrading labour

Oppressive practices violate the right against forced labour

(i11) Violation of Article 17

(A) Only (i) and (i)

(B) Only (ii) and (iii)

(C) Only (i) and (iii)

(D) All of the above ((i), (ii) and (iii))
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27908e0d FoITIRT 3155 5ReIeT, BowoBITOS I, FOWE BB, BoRDHLAMD :
() w3aEN CRAMMRS S ST BT B0,

(1) e oae%rw oA 200D TeTFRAS Tewe es0deent RTSeSordh TR WG B oazszsmb
aoo‘géfa%ua)d).

(11l) TITEBB Jeeve es0deend c‘\)dﬁédo 3 IRENY IO QST & 0DDSIT.
A) () D (1i) o3, B) (i) DD (iii) e,
(C) (iii) DR (i) 3, D) SedI d0dp (() (i), (i)

73 e QBB SoAWTRW FeOBNG -
)  Bowsahar T0F BORFROR B0ATIB TSR,
() @ BodRE, 11 Se BB FedIT.
(i) SocTIdw 23ort IX Y BOATRE, FeDID.
@A) () D3 (i) 33, B) (i) DR (iii) I3,
© () D@ (iii) o3, D) e oup (1), (i), (iii))

odeded 350B wBNDIS :

@) eﬂz_jzs§d> IO ), ﬁomésamﬁ ATes WHF00LRY FeDTVBTD.

(i) eomwme o) ﬁomééd €303 oaesémjﬁ dd&oﬁnd& BROTVBRD.

(i)  2oeme YTowYSBT BAWBD 2oeme JRDIY BB T BENLT STH BreBBD.
A) () DR (i) 393, B) (i) DB (iii) I3,
©) () DD (iii) S593, D)  SedI d0p ((0), (i), (ii))

©Bpe0T° 4, 2024 3Q, od3ead a’éef)éeﬁm INPIE) o—’gjééesé B30T, AD 2e33ead JoIFIIT
23 Se @magedddg( BLVOFDBT, 0T L0 Feees’s FoDHBVT, YN

() BWFBTR, BBTTADID.
(i) ey PB0dh RIYINW WOBoBT FochEST AL B3, LVYOFDHIT.
(111) @maged 17 3 V0w,
A) () DR (i) 393, B) (i) DB (iii) I3,
(C) (1) DR (iil) a3, D) 2edI vdp ((), (i), (i)
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41.

42.

43.

The 104t Amendment of the Indian Constitution introduced :

(1) Extended the time limit of SC and ST reservation seats in Parliament and State
Legislatures

(11) Reservation for EWS

(i11)) It removed the reserved seats of Anglo - Indian Community in the Lok Sabha and

State Legislative Assemblies
(A)  Only (1) and (ii1)

(B) Only (1) and (i1)

(C) Only (ii1) and (ii)

(D) All of the above ((1), (i) and (ii1))

Which of the following statements are correct in connection with President of India?

(1) The President submitted his resignation letter to the Speaker of Lok Sabha

(i1) The President submitted his resignation letter to the Vice-President of India

(i11)) His removal from office is to be in accordance with procedure prescribed in Article

61 of the Constitution
(A)  Only (1) and (ii1)
(B) Only (i1) and (iii)
(C) Only (1) and (i1)

(D) All of the above ((i), (ii) and (iii))

Find out the Chairman of 16t Finance Commission of India :
(1) Annie George Mathew
(i1) Ajay Narayan Jha
(111) Dr. Arvind Panagariya
(A) Only (1) (B) Only (1)
(C) Only (i11) (D) Only (11) and (i11)
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41. e03ead JoNPIT 104 Je SRSBoDLIY BOBATIINT -

) ®oRB) DR Owy TURITIAWY SC DA ST WeRwnd TIMY  SODS0HRY
AZBZING.

(1)) EWS mef esewed.

(1) QWD deesRS DA oo APIRIINYY sorine-20B0LR* IZNWHT DT m@sw@(
3D TdIR.

Q) 1) DI (1) 59,
B) () D@ (ii) I3,
©) (i) DR (i) 93,
D) e o0e (1), (i), (iii))

42. o033 03, BNV Fo0RIBOB B BYNS alred HeeInL TOAreNES?
() 0@,BEMY 3, Tedevosd BZINY heeseIad e80T SOITD.
(i) 0@ BN 3D, Uotdeod BIINY 0BT V@R ZOrT SOITD.

(1) I3 ©PZ0T  ISRDTIRIBWBY JVOIFST 61 Je eﬂabzgedz:ieg SICIAG ORI
B0DFATIB, RDresceNTese.

A) (1) D) (111) S50,

B) (i) D (iii) I3

©) @) DR (i) ST,

D) e o0e (i), (i), (iii))

43. 2033 16 e BeazD 803ReNT T ZTD, B0DHBAD :
1) o weese dn?jz;jxaé
(1) 0D TeTaDE Ty
(i) 9. 3o I3OAdTead
A) @) 393, B) (1) 359,
(C) (iil) 93, D) (1) DR (iii) 3,
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44. Which of the following is the least infective material for the spread of HIV?
(A) Blood (B) Semen
(C) Breast Milk (D) Saliva

45. The global campaign may measurement month is related to which disease?
(A) Hypertension (B) Diabetes
(C) Obesity (D) All the above

46. Which is not a rich source of Vitamin D?
(A) Sunlight (B) Fatty fish
(C) Eggyolks (D) Finger millet

47. Who are the beneficiaries of the Arogyakiranam programme of Government of Kerala?
(A) Children aged 0 to 18 years
(B) Women aged 15 to 45
(C) Individuals above the age of 60

(D) Visually challenged people

48. Which among the following has the highest blood flow in m1/100 g of tissue?
(A) Kidney (B) Liver
(C) Brain (D) Heart

49. What does PHEIC stands for?
(A) Population Health and Environmental Impact Committee
(B) Public Health Evaluation and Incident Control
(C) Preventive Health and Emergency Information Center

(D) Public Health Emergency of International Concern

50. Which group represents zoonotic diseases?
(A) Zika, COVID-19, Cholera, Japanese Encephalitis
(B) Plague, Nipah, Rabies, Monkeypox
(C) Kala—azar, Typhoid, Leptospirosis, Plague
(D) HIV, Rabies, Leptospirosis, Poliomyelitis
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HIV 83331 8 3YNIJIrnYY odreddd 38 Reeodzets SxweNd?
(A) T3 B) dedde
(C) o8 mow (D) 33
B33 o3y May Measurement Month adyecs draeriéé JowoRIT7?
(A) 03 33Be33 B) DDem
(C) o D) edI d0Fpe
Q3D B ab e3ze0TeN QT DI WBreHT?
A) TS IPD B) BN bed
(C) Beedad YO dee D) dono® eJesF
Be0Y IS5 T3 esdraerié%dsao B0DEBDT PIRDLINL adradh?

(A) 0003 18 S BN B,
(B) 15 003 45 S@e SohQS DBYAbD
(C) 60 SFFE,03 ey, F3MW
D) Tyd FeeRIDHT BID

SYNRDRVO AT AO/100 Myo ©omRo3RS ©de B 038 BOTY, BeodH?
@) 38 (B) abz,
©) SR D) BBad

PHEIC ooddesh?
A) dfa@édeza‘ B BOTF DQ),TINT0EI ROTOT’, BDed
(B) =5 T Qowy0eaRF 8ot R Boes® sotdpeesf
(O) ToLd* T B80T AWV, VR PoDer B* Foe3ok

D) BE* B ORI, BT VOLBTRYRIF B

adrea3 o) Teteetdst FadINYRY B3AODBH?
(A) BB, BeedT-19, o009, BT AR FoOLT®
B) Jerf, Ao, TeddesF, 0 Hos°,
(C) Bowro-ed0°, £3,55000TF, I, TRedTF, Tert

(D) T, TedeF, I, TRedTF, dpedadned Oz
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51.

52.

53.

54.

55.

56.

An integrated, unifying approach that aims to sustainably balance and optimize the

health of people, animals and ecosystems is known as :
(A) Holistic approach
(B) Sustainable Development Approach
(C) One Health Approach

(D) Transdisciplinary Approach

What is the name of the emergency response for the prevention and management of
violence against healthcare workers when patients or hospital visitors become aggressive
recently implemented in Kerala?

(A) Code Grey Protocol (B) Code Blue Protocol
(C) Code Red Protocol (D) Code Orange Protocol

Which is the most recently completed National Family Health Survey (NFHS)?
(A) NFHS-4 (B) NFHS-5
(C) NFHS-6 (D) NFHS-7

What is the acceptable level of fluoride in drinking water as per the Bureau of Indian
Standards’ specification?

(A) 1 mg/L B) 2mg/L
(C) 3 mg/L (D) 4 mg/LL

The blowing of the air through the room when the doors and windows are open is called :
(A) Perflation (B) Ventilation
(C) Deflation (D) Aspiration

Choose the correct theme for the world environmental day 2024 :
(A) Our Solutions to plastic pollution
(B) Our Planet, Our Health
(C) Our Land, Our Future
(D) My health, My right
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C) I, WD, B, BIF, D) I, sdeen;, ST B3
-27-



155/2024-K

57. In the case of photoelectric effect, increasing the frequency of incident light on a metal

results in :
(1) Anincrease in the kinetic energy of photoelectrons.
(11) An increase in the work function of the metal
(111) An increase in the number of photoelectrons.
(iv) An increase in the stopping potential.
Choose the correct statement(s):
(A) Only (1) is correct
(B) Only (@i1) is correct
(C) Both (1) and (111) are correct

(D) Both (1) and (iv) are correct

58. Choose the correct statement(s) regarding the velocity of sound in air :
(1) Increases with an increase in temperature.
(11) Decreases with an increase in pressure.
(i11) Is independent of pressure.
(iv) Increases with an increase in density.
(A) Both (1) and (111) are correct
(B) Both (i) and (iv) are correct
(C) (), (11) and (1i1) are correct

(D) (), (1) and (iv) are correct

59. The working principle of a hydraulic lift, a device used to lift heavy objects, is based on :
(A) Archimedes Principle
(B) Bernoulli’s Equation
(C) Pascal’s law

(D) Buoyancy
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60. Which of the following statements is not true in the case of gravitational force?

(A)
B)
(©)
D)

It is the strongest force in nature
It is proportional to the product of the masses of the objects
It is always attractive

It obeys superposition principle

61. Choose the correct combination from the table :

Problem
@) Work done by the frictional force on a body sliding down (1)
an inclined plane
(11) Work done by a person pushing a table to slide it in the 2)

direction of the applied force

(iii)  Work done by the magnetic field on a moving charged (3)
particle
A) @ - (1); Q) - (2); (1i1) - (3)
B O-03); 1) —(2); (1) - (1)
© O -(©2); @) -3, (i) - (1)
D) @) - (2); Q) - (1), (1) - (3)

62. What is one of the objectives of ISRO’s ADITYA — L1 mission?

(A)
(B)
(©
D)

To study gravitational waves from the Sun
To study dynamics of Earth’s atmosphere
To study inner part of the Sun

To study dynamics of solar atmosphere

63. India’s first supercapacitor production plant is located at :

(A)
(B)
(©)
D)

Bengaluru, Karnataka
Kanpur, Uttar Pradesh
Kannur, Kerala

Noida, Uttar Pradesh
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60. rbd)aadswﬁoi) TAIS]A] ﬁodzjsdeg s BYNS Ao BeLI3NKD 5601)9?

(A)

(B)
(©
D)

2D BB300O 93,038 BRO BN

QD SWNY BF0edNY NS I3, VRDTISBODST

Q) odeceniewe e8BREBDNDIT
QD VRBOTBPITY BB, BODIT
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(A)
(B)
(©
D)

@ - (1); () - (2); (11) — (3)
@ - (3); () — (2); (11) — (1)
@) - (2); () - (3), (11) — (1)
@) = (2); @) - (1), (1) - (3)

62. @iRed 8O3 - L1 L& eugedniv’d womand

(A)
(B)

(©
D)

63. 03T SRV JFRBT® BHILIT® YVTY BV FEIBY A ¥

(A)
(©

TRADEQOT DTy BREBD VSHYRY VT DS Sredey

23R D9FIRTEIT démcibsi) @@( eﬂzjzsoi)é 9TED

R/RADES u@mr{d@x @C%Oi)d B
90 D0 DTVB dém&’bsi @@( @c%o;bd AT

Bonwed), dveredd (B) BT, ¥L33 BIe3
BEaRd, 3esY (D) Seeddry, eVST BT5eB
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64. Choose the correct statement of Aufbau principle.

(A)

(B)

(©)

D)

In the ground state of an atom, electrons are fed into the various orbitals in

the increasing order their energies

Electron pairing do not takes place until all the orbitals of the set contain one

electron each
No two electrons in an atom can have all the four quantum numbers same.

The unpaired electrons in the orbitals of the set have parallel spins

65. The element with highest electronegativity is :

(A)
(B)
(©

D)

Chlorine
Oxygen
Flourine

Bromine

66. According to Charle’s law :

(A)
(B)
©)

D)

Volume is indirectly proportional to temperature
Volume is directly proportional to temperature
Volume is directly proportional to pressure

Volume is indirectly proportional to pressure

67. The pH of 2N HCl is:

(A)
(B)
©)

D)

Greater than 7
Less than 7
Equal to zero

Cannot be predicted
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64. Aufbau 333 JOT TePBADRY, 0.

(A)

(B)

©)

D)

DO ST 3L, 2IF), INYRY Iy BIMY T DS FDHBY AP

B3ROr AedUrb3s
REFR 203 BF BUd 20D AUTYT By, WYLOBDBBST 85, eersay
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DO alrecde AT aeﬁmy) FRD D9 Deew, 59,0633 ﬁoa%rﬁ%éaig( 20033¢e

Be3 FPoDDLZO

Se3'S BFYY weeBodonad otz Fiwd JB7eme03T I NYRY, TEeodDHIS

65. ©30T 2R eI T oIS ©03

(A)

©)

BedR* (B) esd3ax°

pNenv (D)  Bredr’

66. 2390 £ SRR TBT,

(A)

(B)

(®)

D)

DO SoTIORB, BTReFTN BRDTIBTODHBE
SO BoBToIB, FeTmoN RDTBBOH ST
B0By0603Y) 03RS, JeTmaN BDTBBODZT

SO 230, BdReFTN ORDTISIONIT

67. 2N HCIS pH &0\ -

(A)

(©

73,03 Tod), B) 7303 38D
zixaa%éé D D) ndbIw mz,:%&)e)m
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68. Aqua regia is a mixture of :
(A) concentrated sulphuric acid and concentrated hydrochloric acid in a ratio of
1: 3 by volume
(B) concentrated sulphuric acid and concentrated hydrochloric acid in a ratio of
3 : 1 by volume
(C) concentrated nitric acid and concentrated hydrochloric acid in a ratio of
3 : 1 by volume
(D) concentrated nitric acid and concentrated hydrochloric acid in a ratio of

1: 3 by volume

69. Regarding green chemistry which of the following statements are correct :
(A) Eliminate the use or generation of hazardous substances
(B) Minimization of waste in the manufacture of chemicals and allied products
(C) Applies innovative scientific solutions to real-world environmental problems

(D) All the above statements are correct

70. What is one of the main reasons for the increasing demand for hydrogen as a

sustainable energy resource?
(A) It isthe cheapest energy source available
(B) It can be produced from renewable sources, reducing reliance on fossil fuels
(C) It has no energy content and is used solely for industrial applications

(D) 1Itis primarily used in batteries for electric vehicles
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68. 5y, TRy AWT DFLaaNG :

(A)

(B)

(©)

D)
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(©)

D)

©990hZ0 SNY WYS FD ema%odﬁobdg( ADODID
090N ) FowodB evad IrY Sadred3abd a‘oaszsasdﬁg( BRI
S 2-3B0dT SOTT 53&5’{1%? SR B 325008 BOBITNFRY WIS

DT e BEVINYW TOayaNS

70. DT B o LN B30T Bud) STa 3B DB Fo0aNYY wowaNd

(A)

(B)

(©)
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71.

72.

73.

74.

75.

A bag contain 50p, 25p and 10p coins in the ratio 5 : 9 : 4, amounting to Rs. 206. Find the

number of 10p coins.
(A) 200 (B) 40

(C) 160 (D) 360

Arun can do a piece of work in 80 days. He works at it for 10 days and then Anil alone
finishes the remaining work in 42 days. In how much time will Arun and Anil working

together, finish the work?
(A) 30 (B) 48

(C) 42 (D) 60

The average of five consecutive odd numbers is 61. What is the difference between

highest and lowest numbers?
(A) 57 B) 65

©) 8 D) 6

Which of the following inter changes of signs would make the given equation correct?
100 +100x 50— 2 + 3=51
(A) —andx B) +and~+

(C) +andx (D) +and-

Identify the number that does not belong to the following series.
2, 6, 14, 30, 62, 126, 250
A 14 (B) 62

(C) 126 (D) 250
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71.

72.

73.

74.

75.

155/2024-K

20T 28wy 51 9 : 4 oDw3BY 50p, 25p DB 10p VEYNYRY, TeoBDIT, ¥BT B3

de. 206. 10p Seeyn¥ BosdohD s0tHBAD.

(A) 200 (B) 40
(C) 160 (D) 360

©DE* 80 BINYY 00w BUFBRY SRBWRD. VBB 10 BINY 500 VTTY FUT FreRTIT DAY
03T A B3, HUPT FUTBNY, 42 BINYY FADTIT. VDHE D) VALF WY BUT DS
BUIB, o), FRDHTO BwNDTITG?

A) 30 (B) 48

(C) 42 (D) 60
2 I3 A3 Foghny ToRO 61. ©FH3 D) 3B FogNY SRR FTYTTerD?

(A) 57 (B) 65

(C) 8 D) 6
39N Aoz 8@, 1Y 03T WBBBAY BT BDeBTHITY, SO BRI ?

100+ 100x50—- 2 + 3=51

A) -3 x B +DD+

©) +Rx D) +3-

BINS Byeedrt @poBBNE JoadobR rHH3R.

2,6, 14, 30, 62, 126, 250
A) 14 (B) 62
(C) 126 (D) 250
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76. What was the day of the week on 4t June 2002?
(A) Sunday (B) Monday

(C) Tuesday (D) Wednesday

71. (25\/g)x :(i/g)ﬁl , what does x equal?

1 2
@ - B 3
2 5

78. Suppose that in a particular codding LION is written as MNHK. Find out how COW will

be written in the same?
(A) ANB (B) VNB

(C) BNV (D) NVB

79. A family consists of 6 members A, B, C, D, E, F such that B is the son of C, but C is not
mother of B, A and C are husband and wife. E is the brother of C. D is the daughter of A.
F is the brother of A. Who is the brother in law of C?

(A) B B) D

© E D) F

80. 25% of 24 + 25% of 32 —14% of 350 = ?
A) -35 (B) 35

(€) =30 (D) 30
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76. 2wx° 4, 2002 S0t DT O AeYH?

(A) o] B) eeDmed

(C) SDon¥=mes (D) 2wx=e3

77. 255y =[x anwEs, sansmnwEE?

| =
DO

(A) ® =

© = D) g

78. c‘\’)a&—’% BpeBorts®Y LION emg( MNHK 203 2300e59NE Q01 Wodanees. eie 8ed COW @dg(
®ert wdabuerhadd aowddg( BoRHBAO.
(A) ANB (B) VNB

(C) BNV (D) NVB

79. w0l BDbewowdy 6 IBIONY w¥reodd A, B, C, D, E, F. ©o3d B av C ab =bn,
33 C, B odb sadbabe), A ) C rfod Sd) 80@3. E adw C ob S&8eessd, D ady A od Srisd.

F, A b 380e33. C 9833 30e33 7o adyedh?
A B (B) D
© E D) F
80. 243 25% + 323 25% — 3503 14% =?

A) -35 (B) 35

() =30 (D) 30
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81.

82.

83.

84.

Neither food nor water

Fill in the blank space

1) were
(11)) was
(i11) have

(1v) none of the above

A O
B) (1)
€ @)
D)  Gv)

Locate the synonym of sesquipedalian from the following :

(1)  Short tempered
(i1) One who loves cycling
(i11) Using pompous language

(iv) One who writes lengthy poem

A O
B) (1)
© @
D) @)

Antonym of clockwise is :
(1) inclockwise

(i1) unclockwise

(111)) counter clockwise

(1v) none of the above

A) )
B O

(€ ()
D) G

Identify the correct spelling?
(1) inveterate

(i1) invertarate

(111)) invetarate

(iv) inverterate

A) )
B) @
(€ ()
O @

to be found there.
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Identify the meaning of the italicized words.
He will never set the Thames on fire

(1) think deeply

(i1) get ruined

(111) achieve something unusually good

(iv) None of the above

(A) (1)
B ©

© @
D) @)

Add proper question tag from the following options.
None of those customers were happy, ———?
(1 isn’tit?

(11) were they?

(i11) hasn’t it?

(iv) weren’t they?

(A) (1)
B O

© @)
D) G

Convert the following statement into indirect speech.
He said, “Let us wait for the award”.

(1) He tells us to wait for the award

(11) He tells him to wait for the award

(i11) He proposes that he should wait for the award
(iv) He proposed that they should wait for the award

A) )
B O
© @
D) (1)

-41-
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88. Choose the correct preposition from the following.
The public are cautioned ———— pickpockets
1 of
(i1) against

(111) about

(iv) on
A O
B) @)
©) @)
D) (i)

89. I speak the truth. I am not afraid of it.
Combine the sentences using infinitive
1) I am not afraid to speak the truth
(i1) I am not afraid of speaking the truth
(i11) I speak the truth as I am not afraid of it

(iv) None of the above

A) )
B) @)
(€ @i
D ®

90. Time we live ought not to be computed by number of years, but by use that has been

made of them. Insert articles where necessary :
(1) The, the

(11) The, the, the

(ii1) A, the, the

@iv) A, the
A O
(B) ()
© @
D) @)

A -42-
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91. es@m?sﬁb 07T :

(A) THme03B ZoaheS

B) JIeTe 2 SodbeS
(C) 23eTe3eq SedheIRR

D) DI SodheS D) B0eTT FodeS

92. 85 3YNIYNYO SO ez TS abRY, HHA0.

(A) 0 HBZTWE, TRA) 20 BB

(B) 9 &3z, TRA) 200WNHW IBTY)
(O) 080 o3z03, BI) 30 ABTY)

D) O oO3FE, BI) 0 ABAWDIY)

93. Jyerd, Terd, FedrD, DD - APNFY rHodrt Fedd) wreFch?
A) Sord
B) wID
(C) Beord

(D) =drd

A -43-
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94. B IPNIJYNPY TO0aed BTew adreYch?

(A) QT3

B) AReR

(C) I=e3

D) Jdzex

95. Jedade or) @ew Deaod - B MBSl WomeGe :

() oY TFAT BB OF D0TH Y BeHID

(B) o0defesss B30k SRRV

(C) NRISTd Jorid

D) BITTe AR, ¥IZYTe ADID

96. o) - 5 IDIT STBIY, VB IBWJYTD Teri?

A) % + Medy

(B) % + &)

(C) ot + e

D) ot + Pedy

A -44-
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97. W - B BT MBF :
(A) WL LY

B) Bow 0T
(C) womnent WO BRPRDIID

D) 2O 2R 0w BT

98. Declaration & IBE IS I3 :
A) I3
B) BIRHSI,
(C) T)Re8Te

D) pexes

99. TTEHeT0T BN D0TT :
(A)  20doT OB, BODIHD

B) 3¥NA0T Dewd, BODIHD
(O) BROT w3, BODIHD

(D)  PeS)Z95003A) BODIHTD

100. DeODNoT B¥ri, JOT IBR, DIW0BT DI, Jee3dod @ETN - @@rﬁ%ﬁeﬁm nodn Je33
msasz_nri A ?

Q) Sedod B

(B) R0ed I&rt
(C) DIWoT DI

(D) See3dvod &eT

A -45-
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